





4 -1, ARZL S HAM(CHESH)
Tl 1 %)
.0 2434 7| ™ot
o Mool | asaz| @ |uomsy|T2 B3 yzon
TR A ey [BY R e | asen| zs | SR e | M
A 24t
E
2025 4 700.0 16.6 7.7 20.2 1.4 9.0 22.4 2.4 0.3
20234 100.0 20.8 20.3 19.8 9.1 6.3 16.5 7.1 =
Ao
= =l | 100.0 18.4 19.5 16.2 12.1 8.3 22.4 2.4 0.7
=2 = 2 100.0 14.2 14.8 24.6 9.3 10.8 21.9 4.3 0.0
4 = | 1000 168 141 265 102 69 248 0.6 0.0
Fzo2A| 1000 139 205 178 131 11.8 199 2.9 0.1
(N e
=k At 100.0 17.0 16.7 20.5 10.6 9.0 23.4 2.7 0.1
o At 100.0 16.1 18.7 19.9 12.3 9.1 21.3 2.1 0.5
LR
15~294 100.0 15.4 14.9 136 16.8 7.4 287 2.0 1.2
30~39A 100.0 19.1 17.0 11.8 12.7 8.9 30.2 0.4 0.0
40~49A| 1000 17.3 155 19.2 126 86 25.5 0.7 0.7
50~59M4A 100.0 16.4 15.8 259 9.7 8.3 21.4 2.1 0.3
60AM o4 100.0 16.3 19.8 215 10.2 9.8 19.0 3.4 0.0
65AM Of A4t 100.0 14.7 20.4 21.4 10.8 9.8 19.4 3.4 0.1
Cof e
Z2 Z o] 3} 100.0 16.8 20.2 22.0 9.8 9.9 18.6 2.5 0.1
ni = 100.0 141 18.9 20.3 11.5 8.0 24.0 2.9 0.4
h = o A 1000 187 134 178 134 9.0 254 16 0.6
CBQIAE )
] = 100.0 16.2 16.6 14.2 13.2 10.0 27.4 1.7 0.7
Hf @ A U S 100.0 16.5 17.3 22.6 11.8 8.1 21.3 2.3 0.2
AtE /ol & 100.0 17.2 20.2 19.2 8.6 10.7 20.5 3.2 0.3
GBS
Z| o 100.0 16.9 16.9 20.1 11.7 9.1 22.8 2.3 0.2
AR Ol HPREE 100.0 16.0 19.0 20.3 11.0 8.9 21.7 2.5 0.5
CH Y
A /@a| 1000 167 114 214 152 54 281 1.8 0.0
A a| 1000 187 185 188 98 144 189 0.8 0.0
MHA/TrOy| 1000 171 19.1 169  14.1 85 215 2.1 0.7
= 2 of 9| 1000 127 180 273 100 110 185 2.4 0.0
s/ =8 100.0 18.2 16.6 18.2 8.9 6.7 271 4.1 0.2
= 0l 100.0 29.1 11.0 11.0 13.3 8.1 275 0.0 0.0
OlRASE)
1009k mjat | 1000 17.3 20 22.4 9.1 110 171 2.8 0.1
100~2000t | 100.0 14.8 18.1 234 12.8 58 222 2.4 0.5
200~3000tH 100.0 19.4 187 173 9.6 133 19.7 1.9 0.0
300~400%+d 100.0 15.6 15.7 22.4 15.2 6.6 21.8 2.6 0.0
4000k9J OjAH| 1000 201 129 196 9.7 103 235 35 0.4
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(Tt = %)
. sy [NEBEM| ewe | Ay |MemEA
22 | oA | 2208 | saiw (RAELS ] AW o | odSa | 7
sxigal | 2200 [Aaenal axel | agms | a4
B e | e | zE | A

2025 4 700.0 26.2 7.0 8.3 7.4 129 8.1 0.1
(Ao
2 5 = 100.0 25.9 15.7 17.0 18.9 13.4 9.2 0.0
2 g 3 100.0 15.3 147 246 19.4 14.9 11.1 0.0
N o2 2 100.0 315 159 18.9 146 12.8 6.0 0.3
Fzo 2z 100.0 29.5 233 15.7 15.7 10.1 5.7 0.0
Koy
=k At 100.0 26.9 18.4 17.4 16.9 11.6 8.6 0.1
o At 100.0 25.4 155 19.3 17.9 14.2 7.6 0.0
TR
15~2094 100.0 296 178 9.7 20.1 16.4 6.4 0.0
30~394 100.0 241 16.7 18.8 11.1 1238 159 0.7
40~49A 100.0 27.4 175 16.4 17.1 14.9 6.6 0.0
50~509 A 100.0 263 176 17.5 19.3 12.7 6.7 0.0
60AM oOf4 100.0 25.3 16.5 21.4 17.3 11.5 8.0 0.0
654 O A 100.0 257 16.4 21.0 17.6 11.6 7.7 0.0
Cofe e
= = of 3 100.0 251 158 21.0 18.3 125 7.2 0.0
i = 100.0 25.4 15.7 18.7 17.7 13.5 9.0 0.0
0 = o A 100.0 28.2 197 14.9 16.0 126 8.3 0.2
EoNEE
0| =z 100.0 26.1 17.3 12.5 19.4 15.3 9.4 0.0
b S 2t Q2 100.0 26.6 17.0 19.3 16.3 12.4 8.4 0.1
A& /O & 100.0 25.0 16.9 21.9 18.7 11.6 59 0.0
BN
2 A 100.0 25.9 179 17.5 16.6 13.5 8.5 0.1
AR Ol HPREE 100.0 26.7 15.4 19.9 18.8 11.8 7.5 0.0
Cag e
Y 100.0 27.0 240 16.1 16.4 10.7 58 0.0
At = 100.0 23.6 17.3 16.9 18.4 17.3 6.6 0.0
A H| A/ THOf 100.0 2556 19.1 16.0 143 14.4 10.7 0.0
L 2 of of 100.0 24.9 17.4 21.0 16.5 1.7 8.6 0.0
s /Lo 100.0 29.4 135 16.2 188 145 7.7 0.0
= 0l 100.0 23.2 16.8 21.9 13.5 12.0 10.5 2.1
OlRLEW
1008t Ojat 100.0 21.4 130 239 213 118 8.7 0.0
100~2008+ 100.0 255 17.9 233 15.8 9.5 8.1 0.0
200~3008H 100.0 18.9 16.4 24.4 21.2 11.2 8.0 0.0
300~4008H 100.0 285 209 13.4 14.9 12.0 9.5 0.7
4000+S] O] A} 100.0 29.0 195 16.2 16.2 106 8.4 0.0
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4-3 WEDSHE BIE - (1) ol of% Y BIE
o %)
2] T p-3Je:ke;
SR B T -t i)
@z | oo | oz | 285 |=us| o | g
oz | o 20i% | g0z
2025 9| 1000 208 1000 469 175 294 461 70 55 15 792
20234 1000 171 1000 376 132 244 567 57 29 28 829
TEEE
=z =2 3 100.0 219 100.0 44.3 18.4 26.0 48.7 7.0 7.0 0.0 78.1
2 =2 i 100.0 21.1  100.0 52.2 22.2 299 39.6 8.2 1.2 7.0 78.9
N 2 #H 100.0 209 100.0 44.0 16.7 27.3 47.3 8.7 6.6 2.0 79.1
mzo2m| 1000 173 1000 548 109 438 421 32 32 00 827
N TN
= At 100.0 16.4 100.0 45,9 17.0 29.0 50.9 3.2 3.2 0.0 83.6
o At 100.0 253 100.0 47.6 17.8 29.7 42.8 9.6 7.1 2.6 74.7
TEEE
15~294 | 1000 159 1000 227 00 227 663 1.0 110 00 841
30~39A4 100.0 20.1 100.0 447 21.5 23.1 38.4 17.0 4.5 12.4 79.9
40~49K| 1000 266 1000 557 197 360 355 88 88 00 734
50~59A| 1000 252 1000 403 87 316 527 70 49 21 748
60AM oOf4 100.0 189 100.0 52.8 241 28.7 43.5 3.7 3.7 0.0 81.1
65AM O A4 100.0 18.2 100.0 55.9 29.2 26.7 40.7 3.4 3.4 0.0 81.8
TLEEE
Z2 Z o] 3} 100.0 15.8 100.0 46.5 24.3 22.2 42.0 11.5 6.3 5.2 84.2
i Z 100.0 21.8 100.0 39.1 11.4 27.7 58.5 2.4 2.4 0.0 78.2
I & o 4 100.0 26.0 100.0 54.0 17.4 36.6 38.5 7.5 7.5 0.0 74.0
EOI BN
0| =z 100.0 16.0 100.0 26.8 2.9 239 60.1 13.1 6.5 6.7 84.0
Bl o9 e| 1000 241 1000 500 181 319 446 54 54 00 759
At /ol & 100.0 15,5 100.0 53.9 30.0 239 38.0 8.1 4.8 3.3 84.5
FHBED
Z| o 100.0 23.3 100.0 48.5 15.2 33.3 43.5 7.9 6.4 1.5 76.7
AR Ol HPREE 100.0 16.6  100.0 431 22.7 20.5 52.0 4.9 3.3 1.6 83.4
EEEE
A2 /e | 1000 202 1000 515 198 317 431 54 54 00 798
At = 100.0 296 100.0 40.4 10.5 299 38.8 20.8 11.7 9.1 70.4
MH|A/TtOf| 1000 271 1000 497 118 379 432 714 71 00 729
L a2 o o 100.0 245 100.0 54.2 17.2 37.0 45.8 0.0 0.0 0.0 75.5
s/ =8 100.0 15.7 100.0 45.6 17.3 28.2 36.8 17.7 17.7 0.0 84.3
= ol 100.0 32.8 100.0 42.3 21.2 21.0 57.7 0.0 0.0 0.0 67.2
T
1000te gjat | 1000 129 100.0 452 386 66 477 71 71 00 871
100~2008¢gl | 1000 146 1000 582 170 413 418 00 00 00 854
200~3000tgd | 1000 297 1000 482 158 324 427 92 92 00 703
300~4008+2] 100.0 10.1  100.0 36.1 5.2 30.8 52.3 11.6 11.6 0.0 89.9
4002+ o|At 100.0 255 100.0 46.1 19.9 26.2 51.4 2.5 2.5 0.0 74.5

20258 HEfdE Zga ARIZAL

- 187 -



m2oa ]
2 & A |MEIETR| aws | FOUg (FEENUE e
25 Sh oz 2 8= =

2025 700.0 52.1 355 82 4.2 0.0
20234 100.0 34.8 29.4 20.8 52 9.7
T EEE

= = A 100.0 60.7 30.3 0.0 9.1 0.0
2 = 100.0 14.8 85.2 0.0 0.0 0.0
AN o= A 100.0 72.3 0.0 277 0.0 0.0
B zo 2z 100.0 0.0 100.0 0.0 0.0 0.0
Koy

o 2t 100.0 4.4 35.4 0.0 231 0.0
o At 100.0 545 355 10.0 0.0 0.0
TELR

15~2094 100.0 100.0 0.0 0.0 0.0 0.0
30~39A 100.0 0.0 73.2 26.8 0.0 0.0
40~49A 100.0 75.0 25.0 0.0 0.0 0.0
50~59M4A 100.0 30.2 69.8 0.0 0.0 0.0
60AM o4 100.0 70.6 0.0 11.5 17.9 0.0
65AM oOfA4 100.0 56.7 0.0 16.9 26.4 0.0
TELR

Z2 Z o] 3} 100.0 353 50.3 56 8.8 0.0
i = 100.0 100.0 0.0 0.0 0.0 0.0
I & o 4 100.0 58.9 27.6 13.5 0.0 0.0
o

0| = 100.0 49.3 50.7 0.0 0.0 0.0
by S 2t Q2 100.0 43.7 38.2 10.2 7.9 0.0
At /ol & 100.0 83.9 0.0 16.1 0.0 0.0
NS

3 o 100.0 48.1 44.9 6.9 0.0 0.0
ADI QI HPREE 100.0 67.1 0.0 128 20.1 0.0
TEEE

A2/ 100.0 0.0 100.0 0.0 0.0 0.0
At = 100.0 425 575 0.0 0.0 0.0
A H| A /T of 100.0 241 47.9 27.9 0.0 0.0
w2 o of 0.0 0.0 0.0 0.0 0.0 0.0
s/ =8 100.0 100.0 0.0 0.0 0.0 0.0
= ol 0.0 0.0 0.0 0.0 0.0 0.0
GRS

1008t T|at 100.0 27.1 0.0 28.4 445 0.0
100~2002+] 0.0 0.0 0.0 0.0 0.0 0.0
200~3008+) 100.0 100.0 0.0 0.0 0.0 0.0
300~400%+d 100.0 100.0 0.0 0.0 0.0 0.0
4000+S) O] A} 100.0 0.0 100.0 0.0 0.0 0.0
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4- 3. WHDSHE VRE - (3) Y olf
(Tt = %)
gosin | myas
28 | A | azes | pyes (MRS RSN RS | S
ge | e=as
2025 700.0 28.4 45.1 7.2 0.4 7.9 7.0
20234 100.0 17.1 50.0 7.5 0.8 7.4 17.2
(Ao
=z =2 3 100.0 35.4 453 45 0.5 6.2 8.1
2 = 3 100.0 26.0 56.2 10.9 1.1 1.0 49
AN o= A 100.0 22.8 439 58 0.0 141 133
B zo 2z 100.0 20.7 37.0 12.4 0.0 9.8 20.1
Koy
n 2t 100.0 314 446 5.2 0.3 8.3 10.0
of 2t 100.0 247 456 9.5 0.4 7.5 1222
TR
15~2094 100.0 325 41.7 42 0.0 6.6 15.1
30~39A4 100.0 46.8 34.6 8.3 0.0 3.9 6.4
40~49A 100.0 40.8 35.1 2.6 0.8 16.2 45
50~59M4A 100.0 42.7 38.7 3.8 0.0 8.6 6.1
60AM o4 100.0 16.2 52.2 10.0 0.6 7.0 14.0
654 O A 100.0 11.8 53.4 11.2 0.8 7.4 15.5
Cofe e
Z2 Z o] 3} 100.0 16.4 52.6 8.9 0.6 6.7 14.7
il Z 100.0 33.9 42.0 8.5 0.5 6.1 9.0
I & o 4 100.0 39.7 374 34 0.0 11.7 7.9
EoIAEE>
0| =z 100.0 314 43.6 6.1 0.6 7.3 11.0
Hf @ A U S 100.0 33.2 42 1 6.1 0.3 8.8 9.4
A& /O & 100.0 12.0 54.8 11.3 0.2 6.2 15.6
BN
Z| %) 100.0 38.3 39.3 4.8 0.5 7.3 9.9
AR Ol HPREE 100.0 13.4 53.7 10.9 0.2 9.0 12.8
Cag e
A2/ 100.0 40.6 38.0 6.6 0.0 6.9 7.8
At = 100.0 29.8 53.1 47 1.2 55 5.7
A H| A/ THOf 100.0 53.9 313 11 0.0 6.4 7.3
w2 of of 100.0 24.2 47.2 9.5 0.4 6.4 12.2
s/ =8 100.0 42.0 35.3 4.0 1.3 5.0 12.3
= ol 100.0 33.2 26.7 0.0 0.0 31.2 8.9
OlRLEW
1008kl Ojat 100.0 48 57.2 128 14 45 19.2
100~2008+) 100.0 147 57.9 7.3 0.0 9.0 111
200~3008H 100.0 31.8 42.1 10.4 0.0 8.5 7.2
300~4002t 100.0 38.9 37.6 55 0.0 11.3 6.7
4000+S) O] A} 100.0 46.4 338 14 0.0 9.3 9.0
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4 - 4 GHREHE MSE

(T2l %)
2w | a4 |2zEe|ezay TS soew agas | SR
23 ms | A |t [4e Al |es | O
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2025 4 700.0 171 3 47 26.1 328 75 05
2023 4 100.0 16.6 8.3 4.0 28.1 341 6.7 2.2
TEEE
= = 100.0 16.1 14.4 4.5 27.1 30.2 7.1 0.6
2 = g 100.0 15.4 9.7 4.7 23.7 386 7.8 0.0
N o= 2 100.0 23.7 7.8 4.8 24.0 33.4 5.8 0.6
B zol 3 100.0 12.0 9.7 4.9 28.2 337 10.8 0.7
(N e
= At 100.0 20.4 11.8 1.8 22.4 35.7 7.6 0.3
o At 100.0 13.6 10.8 7.6 29.9 29.8 7.5 0.7
TEER
15~294 100.0 456 9.0 18 276 9.3 6.7 0.0
30~39A4 100.0 31.3 22.3 0.9 33.2 9.5 2.8 0.0
40~49A 100.0 289 118 0.5 27.4 217 8.1 15
50~59MA 100.0 14.9 15.2 0.5 31.9 25.3 12.3 0.0
60AM o4 100.0 55 8.3 8.7 21.9 48.4 6.6 0.6
65AM oOfA4 100.0 3.5 6.3 10.7 21.2 51.9 6.0 0.5
(ot
Z2 Z o] 3} 100.0 6.5 47 11.0 21.9 494 5.7 0.8
il Z 100.0 25.2 12.0 1.1 25.0 27.9 8.8 0.0
I & o 4 100.0 22.3 19.2 0.3 32.4 16.7 8.6 0.6
N>
0| =z 100.0 39.0 14.6 0.5 24.6 14.3 7.0 0.0
by © 2t 9 S 100.0 12,6 12,5 3.4 29.3 32.4 9.2 0.6
A /o s 100.0 8.1 43 13.0 17.7 53.2 3.2 0.5
GBS
Z| %) 100.0 16.6 12.4 2.1 29.0 30.7 8.8 0.5
AR Ol HPREE 100.0 17.9 9.6 8.9 21.3 36.3 55 0.4
TR
A8/ 100.0 14.2 22.7 0.0 36.2 188 8.1 0.0
At = 100.0 22.9 19.7 0.0 27.4 16.6 12.5 0.8
M H| A /Tt Of 100.0 145 116 1.4 36.3 27.9 8.3 0.0
L a2 o o 100.0 7.2 6.2 34 26.1 455 10.6 1.0
s/ =8 100.0 15.9 7.2 5.7 27.0 37.0 6.1 1.1
= ol 100.0 45.8 17.0 0.0 13.9 17.4 6.0 0.0
OtresE
1008k O|ot 100.0 6.6 30 16.2 16.0 54.9 3.0 0.3
100~2002t=d 100.0 12.0 5.0 2.9 18.8 53.3 7.2 0.8
200~3000tH 100.0 141 135 31 222 392 78 0.0
300~4002t 100.0 16.3 16.6 1.4 241 33.7 5.7 2.2
40028l o[ A} 100.0 14.0 176 0.0 30.4 273 10.7 0.0
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~ |ox oe ] ] yorg- | Hau
2 = 2 RSB | Lo oa | BAUS | Rools | QMsl (A= AW
A oo | IS O | TS | ZRI [ oixg
=o %3t T2

2025 4 100.0 6.4 20.8 10.5 19.4 29.3 136 0.0
20234 100.0 14.9 19.9 9.7 16.3 22.7 14.7 1.7
<A 9 g

=z =2 3 100.0 6.4 22.7 8.5 18.8 30.3 13.3 0.0
2 =2 7 100.0 6.7 12.3 22.1 18.9 31.6 8.4 0.0
N =2 HA 100.0 7.1 18.9 7.1 20.9 27.9 18.1 0.0
ZFzoa 100.0 4.8 26.2 10.4 19.6 26.4 12.6 0.0
<A =Y

= At 100.0 5.3 20.6 11.5 20.6 28.0 14.0 0.0
o At 100.0 7.5 211 9.5 18.2 30.5 13.2 0.0
<oy g

15~29A 100.0 1.1 19.9 10.5 26.0 22.9 19.6 0.0
30~39A4 100.0 10.2 189 8.0 15.0 33.6 14.3 0.0
40~49A 100.0 7.6 36.1 10.8 14.7 20.1 10.7 0.0
50~59M4A 100.0 2.6 24.0 11.2 19.7 26.7 15.8 0.0
60AM o4 100.0 8.1 16.5 10.6 19.6 33.2 11.9 0.0
65AM oOfA4 100.0 79 15.8 11.2 17.0 36.3 11.8 0.0
==

Z2 Z o] 3} 100.0 8.9 16.7 9.7 17.9 33.3 13.5 0.0
ni = 100.0 2.8 18.8 141 19.7 32.6 12.0 0.0
tf £ o At 100.0 6.8 28.3 7.8 21.1 20.6 15.4 0.0
CZOIAENE

0| =z 100.0 2.7 20.6 9.6 241 25.9 171 0.0
B © 2t Q! & 100.0 6.2 22.4 10.6 18.8 28.4 13.6 0.0
At & /o & 100.0 10.5 16.2 11.2 16.6 35.4 10.0 0.0
(AAHZSE

Z| %) 100.0 58 239 10.6 20.0 26.6 13.1 0.0
AR Ol HPREE 100.0 7.4 15.8 10.4 18.4 33.5 14.5 0.0
<2 g

A2/ e 100.0 7.0 35.3 12.3 16.7 19.3 9.4 0.0
At = 100.0 3.9 325 9.9 22.6 221 8.9 0.0
A H| A /Tt oOf 100.0 6.0 21.0 11.4 16.5 29.9 15.2 0.0
= 2 of o 100.0 4.4 17.0 11.2 23.2 29.1 15.2 0.0
s/ 2 100.0 7.9 21.2 9.0 17.2 35.1 9.7 0.0
= ol 100.0 9.4 31.0 3.5 26.8 13.0 16.3 0.0
tPASE

1009+l Ojat 100.0 11.0 10.2 16.1 14.0 39.3 9.5 0.0
100~2008t2 100.0 8.4 21.9 11.5 17.1 25.8 15.2 0.0
200~3009+H 100.0 4.5 25.4 8.2 27.1 24.7 10.1 0.0
300~4009+8] 100.0 59 23.2 15.0 18.7 19.9 17.3 0.0
4000+l OfAt 100.0 5.0 25.8 10.4 20.5 28.9 9.4 0.0
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Hra 747t Z-IA|7-I7I-/ %E%F
Fooog | A [olwEs | awsy | eas | CR0C9NES| we | we | e
= S| EAAY

2025 4 100.0 26.8 125 179 153 185 27 2138 0.6
20234 100.0 326 14.4 1.8 14.9 15.8 42 15.7 0.6
CAL g &5
z = g 100.0 26.1 11.4 1.3 14.7 21.9 20 21.7 1.1
2 = g 100.0 223 132 2.0 205 16.9 47 20.4 0.0
N =2 2 100.0 27.7 12.3 2.3 13.8 15.8 32 24.9 0.0
Zzolay 100.0 31.0 15.2 2.7 14.3 14.9 2.2 189 0.8
=
Lt 2t 1000 27.8 14.7 1.5 15.0 16.2 19 221 0.9
o 2t 1000 25.6 10.2 2.3 15.6 20.9 36 21.4 0.3
(A
15~29A 100.0 305 17.3 1.8 5.2 3.4 19 36.6 3.4
30~39A 100.0 345 14.4 5.9 8.4 6.9 0.0 29.1 0.7
40~49A 100.0 31.0 15.2 5.3 11.0 10.1 1.0 26.3 0.0
50~59 Al 100.0 29.1 15.4 0.4 14.6 16.0 1.7 2238 0.0
60AM Ol A| 1000 225 9.2 0.9 20.2 27.3 42 15.3 0.3
654 O/ A| 1000 21.8 8.2 0.7 2238 27.3 5.1 13.8 0.4
-
z Z o 8| 100.0 23.9 8.1 1.1 21.0 24.0 5.2 16.3 0.3
Il = 100.0 245 14.7 2.4 115 16.4 0.5 2838 1.2
f 2 o A 1000 327 15.9 2.2 11.8 136 1.8 215 0.4
(ZQIAYER )
i k3 100.0 303 16.8 2.7 6.8 6.7 19 325 2.3
Hi 2 29 S 100.0 275 13.4 1.4 13.9 21.7 2.0 19.9 0.2
Ae /ol & 100.0 21.0 5.4 2.5 28.1 20.9 5.7 16.5 0.0
(BAESE
2 o 100.0 26.6 14.8 2.3 133 17.8 2.2 2238 0.1
ADI D HpRIEE 100.0 27.0 8.7 1.1 185 19.6 36 20.0 1.5
(Y
Mo /e 100.0 32.1 125 2.3 126 13.9 49 217 0.0
n =] 100.0 31.0 18.9 0.8 10.9 7.3 0.0 311 0.0
M H| A /THOj 100.0 24.8 15.9 2.0 135 2338 0.7 19.2 0.0
= 2 o of 100.0 20.0 12.6 5.2 16.3 24.1 5.0 16.9 0.0
N /e m 100.0 242 12.6 0.0 15.1 17.9 0.8 2838 0.6
2 ol 100.0 432 24.0 0.0 6.0 0.0 0.0 26.8 0.0
OttasE
1000k Oj@t|  100.0 20.9 6.8 1.5 26.4 23.0 6.6 14.8 0.0
100~2008+) 100.0 25.6 11.4 0.0 18.1 15.2 4.0 25.7 0.0
200~3008+2 100.0 21.3 16.7 3.4 14.1 22.9 23 18.7 0.6
300~4000+2 100.0 25.0 14.7 3.1 123 17.9 37 226 0.7
4008tel ofAt | 100.0 31.8 16.6 2.3 125 14.0 09 217 0.3
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VIS |y gy < _
=9l o= | H AR |92 ° voigz||wo =& oty
T 2 Al Yakg| [ MHA | Y Id:gq;lil M;g% M“HIE;’ Hz2g [ 7IE
Als As [Z21H e = A Y2t
i ©

2025 4 100.0 20.5 25.7 14.4 7.8 6.3 133 11.7 0.2
202 34 100.0 19.1 27.4 21.0 5.1 8.6 96 8.9 0.2
CA 9 g
z2 =2 100.0 18.7 26.9 12.1 9.2 5.6 14.1 13.1 0.4
g =2 Y 100.0 17.7 22.3 15.9 45 85 18.4 12.7 0.0
N o= A 100.0 17.4 28.7 13.6 8.4 8.7 10.6 126 0.0
=0l 100.0 32.0 21.4 20.3 6.5 3.2 10.5 5.9 0.0
& D
Lt 2f 100.0 21.3 25.5 12.7 9.3 6.2 13.1 11.7 0.2
of 2f 100.0 19.8 25.9 16.3 6.3 6.5 135 11.6 0.1
< HE)
15~294 100.0 22.3 27.6 6.0 12.7 6.1 11.2 14.2 0.0
30~394 100.0 11.7 33.2 24.9 8.8 7.0 76 6.9 0.0
40~49A 100.0 21.6 30.4 13.7 6.7 1.9 9.9 14.7 1.0
50~59 A 100.0 21.6 22.3 15.3 11.2 6.2 139 9.4 0.0
60A O A 100.0 21.0 24.1 14.5 5.4 7.4 15.4 12.0 0.1
65K O A 100.0 20.5 24.8 13.0 48 7.7 17.0 12.1 0.2
= I
z = o 3 100.0 18.1 27.0 12.9 3.4 9.0 15.9 135 0.2
nl = 100.0 24.6 236 13.2 11.0 5.4 11.6 10.5 0.0
I & of A 100.0 19.4 26.3 17.6 10.2 39 11.7 10.5 0.4
(ZOIGENES
o] o3 100.0 17.2 28.1 10.3 12.3 5.4 133 13.3 0.0
Hi © 2t 9l & 100.0 22.8 24.3 15.6 7.6 6.2 11.9 11.4 0.2
A" /o & 100.0 16.9 27.6 15.1 4.1 7.7 17.4 10.8 0.3
(BAHZEEE
ES of 100.0 21.5 25.6 14.8 8.0 5.9 11.7 12.2 0.3
ADY QI HPRBES 100.0 18.9 25.9 13.8 7.6 7.1 16.0 10.8 0.0
CA A EHD
A2 /g 100.0 22.1 26.4 18.7 6.1 35 14.4 8.7 0.0
At =] 100.0 12.9 28.4 12.9 13.3 55 9.7 15.9 1.4
A H| A/ THOK 100.0 20.5 27.3 14.2 5.7 6.5 11.8 14.0 0.0
= 2 of o 100.0 215 24.6 14.9 8.4 4.4 13.7 12.0 0.4
s/ B2 100.0 26.6 21.3 12.8 7.3 7.1 8.9 16.0 0.0
2 ol 100.0 27.4 27.9 18.9 6.9 12.9 6.0 0.0 0.0
OtHAE5E
1008+ Ojat 100.0 18.7 27.5 12.6 1.8 85 19.0 11.4 0.4
100~2008+ 100.0 27.1 17.7 11.0 7.1 6.4 15.4 15.2 0.0
200~3000t) 100.0 17.4 28.8 12.7 8.9 7.1 9.4 15.7 0.0
300~4009tY 100.0 19.7 22.6 19.7 6.7 3.4 16.7 11.1 0.0
4008+ OfAF 100.0 22.7 21.4 15.8 9.7 7.4 10.6 11.7 0.8
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2 . o |2 e suaa (eopere| BRI I | mume | L
oy | =4 | %A o a2
e | =z

2025 4 700.0 23.0 14.7 29.8 16.7 8.3 73 0.2
20234 100.0 22.1 14.4 31.5 15.5 7.9 8.2 0.4
Ao
= = 2 100.0 239 16.6 31.9 13.3 6.5 7.5 0.3
=2 = 2 100.0 25.6 15.6 29.5 15.8 9.5 3.9 0.1
N =2 3 100.0 25.6 11.3 26.7 19.1 9.1 7.9 0.2
ZFzo Yy 100.0 15.2 13.6 29.1 22.5 10.3 9.1 0.1
<M ==
=k At 100.0 23.4 13.6 28.6 17.2 8.5 8.6 0.2
o At 100.0 225 15.9 31.2 16.1 8.0 6.0 0.2
Co e
15~29 Al 100.0 22.1 10.7 29.7 21.8 6.1 9.0 0.6
30~39A 100.0 25.6 11.4 25.0 18.6 7.7 11.8 0.0
40~49A 100.0 19.1 13.5 27.9 229 8.1 8.6 0.0
50~59M4A 100.0 22.1 18.4 27.0 18.5 7.5 6.3 0.2
60AM o4 100.0 24.0 15.2 32.4 12.8 9.3 6.2 0.2
65AM oOfA4 100.0 23.3 15.6 31.7 12.3 9.9 6.9 0.2
SR
Z2 Z o] 3} 100.0 25.0 14.8 32.1 141 8.0 59 0.2
ni = 100.0 24.0 15.7 30.1 16.5 8.4 4.8 0.5
I & o 4 100.0 19.4 13.6 26.9 20.0 8.5 11.6 0.0
(ZOIAEE>
0| =z 100.0 21.3 13.9 29.0 19.0 71 9.1 0.6
i © 2 Q2 100.0 23.7 14.8 28.3 17.2 8.7 7.2 0.0
AHE /O T 100.0 22.4 15.2 35.6 12.5 8.0 5.8 0.4
BT S
Z| o 100.0 22.7 14.0 28.6 17.3 8.6 8.6 0.2
AR Ol HPREE 100.0 23.4 15.9 32.0 15.7 7.7 52 0.1
TR
He /e 100.0 22.2 10.7 27.6 25.8 6.0 7.8 0.0
A a 100.0 22.1 11.9 29.7 12.8 9.8 13.8 0.0
M H|A /T 100.0 23.2 17.9 29.8 13.1 7.0 8.9 0.0
v 2 of o 100.0 20.9 14.3 28.6 17.3 11.1 7.2 0.6
s/ =8 100.0 247 16.7 289 15.5 9.4 4.9 0.0
= 0l 100.0 20.5 53 20.1 27.3 9.6 14.9 2.3
RIEPS=T"N
1008kl Tjat 100.0 236 16.6 35.1 11.3 7.1 59 0.4
100~2008+ 100.0 227 10.0 303 16.1 11.4 8.4 1.2
200~3000tS) 100.0 23.6 16.3 27.3 12.0 9.6 11.2 0.0
300~400%+d 100.0 20.7 10.6 29.6 19.6 12.6 6.9 0.0
4009 O| A} 100.0 22.9 13.2 29.5 18.3 6.6 9.3 0.3
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4 -9 7IHEl=

A

A (T3S §)

StE 7t 2T WAL
Oiox.llo :E:-,?;q. SUME | o gorz | anza | =52
T 2 A | grn |swagz| SHES TS TZRT | BE | 7E

urziol | amas | AAE e e o

AFg& | &8st Ar2i5
2025 4 700.0 381 296 9.4 1.2 38 7.7 03
20234 100.0 40.5 32.2 4.4 12.1 3.7 6.5 0.6
CAL 9 g5
= = 3 100.0 411 29.4 12.0 9.3 16 6.2 0.5
2 = 3 100.0 28.5 34.0 11.5 12.3 3.0 10.7 0.1
N 2 #H 100.0 39.9 26.6 5.8 12.0 9.8 5.5 0.3
Bzolaz 100.0 37.0 30.1 6.0 136 2.2 1.2 0.0
T
=k At 100.0 38.7 30.1 8.6 11.9 3.4 7.1 0.2
o At 100.0 37.4 29.0 10.4 10.3 4.2 8.3 0.4
g g 8
15~29A| 100.0 473 254 6.0 7.2 7.7 59 0.6
30~39A 100.0 35.7 338 11.2 7.7 4.5 6.6 0.5
40~49 K 100.0 36.6 322 73 13.8 4.9 5.0 0.3
50~59M4A 100.0 33.6 28.8 12.4 12.6 3.4 8.8 0.3
60AM o4 100.0 38.3 295 9.3 11.6 2.6 8.5 0.2
65AM oOfA4 100.0 39.3 295 8.6 10.7 2.3 9.6 0.1
<o EEH
=z = o 3 100.0 40.7 29.0 8.4 10.9 2.4 8.4 0.2
i Z 100.0 36.0 31.0 98 12.2 4.3 6.4 0.3
0 = of A 100.0 37.0 28.9 10.2 10.4 4.9 8.1 0.5
(ZASENES
0| =z 100.0 43.6 27.7 9.7 8.8 3.6 6.3 0.4
b © 2t 9l & 100.0 36.2 29.7 9.6 138 4.4 8.0 0.3
AHY /ol & 100.0 37.9 31.2 8.7 1.7 2.2 8.1 0.1
(BAEEE>
Z| o 100.0 37.0 30.4 8.8 11.8 4.2 7.6 0.3
AR Ol HPREE 100.0 39.9 28.3 10.5 10.1 3.1 7.7 0.3
CA Y gD
A2/ 100.0 339 32.4 5.8 175 2.4 7.9 0.0
At = 100.0 40.8 30.5 8.1 5.8 6.0 7.9 0.9
A H| A /THOf 100.0 37.8 30.3 125 9.7 1.4 8.2 0.2
= 2 o ¢ 100.0 36.7 311 7.2 11.1 5.0 8.5 0.4
s/ =8 100.0 34.7 30.4 11.7 14.8 2.8 5.6 0.0
= ol 100.0 38.1 27.0 4.2 14.5 14.7 1.5 0.0
tHA5E
1008+el O|at 100.0 38,0 30.1 9.7 12.2 16 8.3 0.1
100~2002t=d 100.0 38.0 279 98 12.5 3.1 8.6 0.0
200~3000+] 100.0 384 27.8 116 9.3 5.8 6.6 0.6
300~4008tS) 100.0 37.8 325 8.2 12.7 28 5.4 0.7
40038 OfA 100.0 336 31.2 8.3 16.7 4.0 6.1 0.0
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T = Al = OH% oFt 23 == Zt Oi%
ohE | s & Z

2025 4 100.0 32.0 10.9 21.1 46.5 215 15.9 5.6
20234 100.0 27.5 10.1 17.3 47.4 251 19.3 5.8
CAL 9 g5
= = A 100.0 32.1 13.3 18.8 46.5 21.4 16.5 4.9
2 = 3 100.0 43.7 10.7 33.0 46.7 9.5 6.8 2.7
N =2 oA 100.0 26.1 8.4 17.6 46.5 27.4 215 5.9
=0l a3 100.0 29.7 8.0 21.7 46.4 23.9 14.7 9.2
<A oD
=k At 100.0 328 10.2 22.5 44.0 23.2 16.4 6.8
of 2t 100.0 31.1 115 19.6 49.1 19.7 15.4 43
@
15~29A 100.0 24.0 5.1 18.9 51.6 24.4 15.3 9.1
30~39A 100.0 26.8 4.9 22.0 42.2 30.9 22.9 8.1
40~49A 100.0 24.8 9.4 15.4 418 33.3 22,5 10.8
50~59M4A 100.0 31.3 10.4 20.8 46.5 22.3 16.4 5.8
60AM o4 100.0 36.8 13.9 23.0 47.2 16.0 13.1 2.9
65AM oOfA4 100.0 34.4 13.1 21.4 50.0 15.6 12.7 2.9
-
Z2 Z o] 3} 100.0 33.5 13.8 19.7 51.4 15.1 11.7 3.4
il = 100.0 31.9 11.2 20.7 46.3 21.8 14.0 7.8
I & o 4 100.0 30.1 6.8 23.3 40.4 295 23.3 6.1
(ZIAERED
0| =z 100.0 23.2 5.2 18.1 525 24.3 16.9 7.3
Y 2 29 & 100.0 345 11.0 235 42.3 23.1 17.3 5.8
A" /o & 100.0 33.1 16.4 16.8 53.0 13.8 10.8 3.0
(BAEEE>
Z| o 100.0 31.6 9.6 22.0 441 243 18.2 6.2
AR Ol HPREE 100.0 32.5 129 19.6 50.5 16.9 12.3 4.7
<Y
e /e 100.0 40.0 14.8 25.1 36.4 23.7 14.9 8.8
At = 100.0 26.9 7.3 19.5 46.6 26.5 18.9 7.6
M H| A/ THOY 100.0 36.6 11.7 24.9 41.9 21.5 16.8 4.7
L a2 o o 100.0 30.1 8.4 21.7 50.0 19.9 16.8 3.1
s/ =8 100.0 29.9 8.1 21.8 41.5 28.6 20.7 7.9
= ol 100.0 3.5 0.0 3.5 55.8 40.8 27.9 12.9
(A RE N
1009+ Ojat 100.0 34.4 16.0 18.4 535 12.1 9.9 2.2
100~2002+] 100.0 31.9 12.0 19.8 53.2 15.0 11.1 3.9
200~3000tS 100.0 37.2 12.0 25.2 426 20.3 17.2 3.0
300~4002+H= 100.0 27.4 6.7 20.7 43.2 29.4 16.1 13.3
4008t8) oAt 100.0 306 9.7 21.0 4.4 28.0 23.1 4.9
2025 HetdE /8T ARIRAL
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AFA -
o | =2 25 | e | s
2 = A === ws| 2w | omne | FINE | EA O o
zuxy | =z w5 | U8=
T =
2025 4 700.0 35.1 215 54 5.8 9.8 2.4
20234 100.0 32.9 21.5 5.2 21.7 13.1 5.6
LR
= = 3 100.0 42.1 19.7 33 12.9 20.8 1.2
2 o 3 100.0 498 1856 135 181 0.0 0.0
A = = 100.0 13.9 249 8.9 22.7 25.3 4.4
B zol 3 100.0 47.3 21.2 18 10.8 159 3.0
T
=k At 100.0 33.6 21.3 4.8 18.8 17.6 3.9
of 2t 100.0 36.9 21.7 6.0 12.2 226 0.6
LR
15~29A| 100.0 26.7 35.0 4.6 125 17.1 4.2
30~39A4 100.0 25.9 22.9 7.2 329 11.2 0.0
40~49 K 100.0 28.8 16.2 59 13.4 255 102
50~59M4A 100.0 458 14.8 8.7 12.5 18.3 0.0
604 Of A 100.0 387 22.2 3.0 14.2 21.9 0.0
65K O A 100.0 42.2 22.1 30 12.4 20.2 0.0
LR
Z2 Z o] 3} 100.0 35.7 21.7 7.1 9.2 26.3 0.0
ni = 100.0 27.4 26.8 2.5 21.9 19.6 1.7
I & o 4 100.0 40.5 17.3 6.4 15.4 15.8 4.6
CBQIAE )
0| =z 100.0 34.1 15.2 4.3 23.8 20.1 2.5
b © 2t 9 2 100.0 346 238 56 14.1 19.1 2.9
AHY /ol & 100.0 39.4 21.2 6.1 10.1 23.2 0.0
BHES
Z| %) 100.0 35.5 21.0 4.1 171 19.9 2.3
ADI I HPREE 100.0 340 226 8.2 12.8 196 2.8
R
A2/ e 100.0 26.9 22.8 56 16.9 22.2 55
At = 100.0 455 14.2 0.0 30.5 9.8 0.0
A H| A /Tt Of 100.0 46.1 16.5 0.0 10.5 26.9 0.0
L a2 o o 100.0 31.0 19.6 5.4 20.4 23.6 0.0
s /Lo 100.0 29.6 24.2 42 18.4 236 0.0
2 ol 100.0 8.6 40.1 17.0 8.5 8.6 17.2
R EPN=TEN
1008+el O|at 100.0 46.4 12.1 6.0 16.0 195 0.0
100~2002+] 100.0 15.4 37.6 11.9 19.0 16.1 0.0
200~3000+] 100.0 31.7 19.3 0.0 28.6 20.3 0.0
300~400%+d 100.0 46.9 17.6 4.2 15.8 15.5 0.0
40038 OfA 100.0 3556 211 5.7 15.6 13.4 8.5
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4 - 1. A% ol HEl

(Tt = %)
_ O|235}A _ 4§ O| A| A
S B U P I el PP e AL BN -
goin | 22 ek | Ng | =@
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2025 S| 1000 561 439 1000 166 423 2.3 52 239 96
20234 100.0 542 45.8 100.0 23.5 41.6 3.6 2.7 17.0 11.6
TEEE
= = A 100.0 56.7 43.3 100.0 13.8 36.1 2.2 5.0 32.1 10.8
2 = 3 100.0 546 45.4 100.0 14.5 334 0.0 6.9 29.0 16.2
N 2 #H 100.0 57.8 42.2 100.0 22.8 45.3 4.0 6.0 15.5 6.4
ZF=ola2my| 1000 531 469 1000 175 609 23 34 108 52
T
= At 100.0 50.9 491 100.0 15.0 43.4 2.5 49 25.9 8.3
o At 100.0 61.5 38.5 100.0 18.8 41.0 2.0 5.6 214 11.3
TEER
15~29A 100.0 13.6 86.4 100.0 6.1 57.7 2.2 3.3 25.7 5.0
30~39A 100.0 47.7 52.3 100.0 18.8 40.9 7.9 7.3 14.7 10.4
40~49 K| 1000 429 571 1000 294 354 0.8 43 267 3.4
50~59MA 100.0 55.3 447 100.0 11.4 455 2.9 47 25.2 10.2
60AM o4 100.0 71.5 28.5 100.0 20.7 32.7 0.9 6.7 23.5 15.4
65AM oOfA4 100.0 70.1 29.9 100.0 18.1 329 1.1 6.8 229 18.1
<o e
Z2 Z o] 3} 100.0 66.4 33.6 100.0 16.9 285 0.4 7.5 30.8 16.0
i = 100.0 53.0 47.0 100.0 13.5 491 3.7 3.6 24.7 54
I & o 4 100.0 46.0 54.0 100.0 19.2 473 2.6 4.8 17.8 8.2
AN
0| =z 100.0 25.9 741 100.0 10.8 50.0 2.7 41 23.8 8.5
ozt | 1000 648 352 1000 212 420 26 65 209 68
AtE /ol & 100.0 60.5 39.5 100.0 15.5 284 0.6 3.9 32.4 19.2
FHEED
Z| o 100.0 55.5 445 100.0 17.9 459 1.1 4.8 23.6 6.8
AR Ol HPREE 100.0 56.9 431 100.0 14.4 36.3 4.3 6.0 24.6 14.4
EEE
Ao /oe| 1000 391 609 1000 193 488 25 51 162 81
At = 100.0 44 4 55.6 100.0 13.1 544 0.0 6.3 22.2 41
MHA/DHOH | 1000 607 393 1000 149 334 1.1 39 407 60
L a2 o o 100.0 69.1 30.9 100.0 17.2 53.4 0.0 53 20.0 41
s/ =8 100.0 56.8 43.2 100.0 17.1 53.2 0.0 1.4 19.7 8.6
= 0l 100.0 38.7 61.3 100.0 40.0 30.8 5.6 11.3 5.6 6.6
LS
1009t DjOF | 1000 634 366 1000 252 216 00 68 228 236
100~2002t=d 100.0 66.3 33.7 100.0 11.6 31.7 0.0 7.2 33.2 16.3
200~3000t | 1000 641 359 1000 230 438 0.0 00 267 6.6
300~400%+d 100.0 491 50.9 100.0 9.1 61.5 47 3.3 15.8 5.6
4000tg oj4f | 1000 508 492 1000 152 404 09 98 27 6.6
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4 - 12. BT St ¥ BFMY
TRl %)
9], ®)

SN T T E TV o comill I SV PO - I ENT )
2025 4 700.0 46 79.0 352 274 76 .4 0.8
20234 100.0 7.0 25.0 37.4 18.1 2.7 8.2 1.7
TEEE
= = 100.0 4.7 17.7 313 29.6 18 13.8 1.1
2 =2 3 100.0 6.8 9.9 48.5 22.3 1.1 11.2 0.3
N =2 100.0 35 228 36.6 26.2 0.8 9.7 0.3
B zo 2y 100.0 3.9 25.1 31.7 27.9 2.8 7.6 1.1
(N e
=k At 100.0 4.4 18.3 34.4 26.5 1.6 13.8 1.0
o At 100.0 47 19.8 36.0 28.4 1.7 8.8 0.6
TEER
15~29A 100.0 1.1 309 31.6 12.1 2.1 20.0 2.1
30~39A 100.0 13.2 27.9 30.3 13.3 1.6 13.0 0.7
40~49A 100.0 7.0 19.5 38.2 22.2 1.5 9.5 2.1
50~59M4A 100.0 4.8 22.7 35.2 23.8 2.0 10.5 1.0
60AM o4 100.0 3.2 13.0 36.2 36.4 1.4 9.8 0.1
65AM oOfA4 100.0 2.8 13.3 36.9 37.1 1.5 8.3 0.1
<o e
Z2 Z o] 3} 100.0 2.5 13.0 36.2 35.9 1.8 9.9 0.8
il = 100.0 2.5 23.5 38.2 22.6 1.0 11.2 0.9
I & o 4 100.0 9.3 221 30.7 21.6 2.1 13.5 0.7
N>
0| =z 100.0 41 284 30.8 18.5 1.6 15.2 1.6
b © 2t 9 2 100.0 5.4 180 34.4 28.6 1.8 11.1 0.6
A /o s 100.0 2.5 126 42.1 32.9 1.1 8.3 0.5
GBS
Z| %) 100.0 53 221 32.8 26.3 1.3 11.3 0.9
ADI T HpREE. 100.0 33 14.1 39.1 29.2 2.2 11,5 0.7
TR
HE e 100.0 8.4 24.1 30.1 18.7 1.4 16.3 1.0
At = 100.0 4.2 31.4 329 22.1 0.0 9.4 0.0
M H| A /Tt Of 100.0 7.2 27.1 31.0 248 16 7.6 0.9
L a2 o o 100.0 2.6 14.0 39.4 33.0 1.9 8.2 1.0
s/ =8 100.0 5.1 13.5 29.5 33.6 1.7 14.7 1.8
= ol 100.0 0.0 36.4 36.9 12.9 0.0 13.9 0.0
OtresE
10008 ot 100.0 3.8 9.0 40.0 36.6 1.7 8.9 0.0
100~2002+] 100.0 2.2 14.6 35.9 36.4 0.0 10.5 0.5
200~3000tH 100.0 2.8 256 35.4 23.9 4.6 7.0 0.7
300~4000+ 100.0 2.3 28.1 28.6 25.4 0.7 12,6 2.4
40028l o[ A} 100.0 6.0 19.0 37.0 22.8 1.4 133 0.6
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R " [T [ v S P (PR I 1= [P i
22l &% | ns | 4z
2025 4| 1000 405 167 44 35 206 30 28 48 36 01
2023 4 100.0 37.1 11.5 7.2 3.2 22.7 3.1 3.7 5.8 5.7 0.2
RECLR
= =l | 100.0 40.3 15.9 3.7 3.1 20.3 3.1 4.1 6.1 3.4 0.0
=2 =l | 100.0 42.5 13.3 4.5 3.4 28.0 3.8 1.1 1.1 2.0 0.1
A = = 100.0 40.9 16.7 4.6 4.2 18.5 1.8 2.0 5.8 5.3 0.3
ZF=olamy| 1000 390 216 56 38 174 35 21 36 34 00
T
Lt 2| 1000 389 170 44 41 204 33 33 48 37 01
of 2| 1000 424 163 44 29 208 27 21 48 36 0.1
LR
15~294 | 1000 129 217 60 180 20 106 181 19 89 00
30~39A4 100.0 25.0 23.9 6.9 4.3 6.6 6.8 4.1 15.7 6.6 0.0
40~49 4| 1000 274 189 94 34 134 26 09 198 43 00
50~59MA 100.0 439 16.6 3.5 1.3 26.1 1.4 0.0 3.4 3.6 0.2
60AM o4 100.0 52.7 13.4 2.6 0.6 27.7 1.1 0.2 0.2 1.5 0.1
65AM oOfA4 100.0 54.2 12.6 3.0 0.3 27.3 0.8 0.1 0.3 1.4 0.1
Cstag
Z2 Z o] 3} 100.0 49.2 11.9 2.7 1.9 26.8 0.6 3.8 0.7 2.2 0.1
ini Z 100.0 38.2 18.8 4.2 5.1 19.4 3.6 2.6 5.3 2.7 0.1
I & o 4 100.0 32.6 20.2 6.5 3.9 14.3 5.3 1.7 9.2 6.3 0.0
CZOINER >
0| =z 100.0 21.1 21.1 7.2 13.5 5.8 10.6 11.2 1.7 7.6 0.0
oz e | 1000 435 170 39 08 236 10 06 68 27 0.1
A& /O & 100.0 52.6 10.5 2.9 1.3 271 1.1 0.3 1.7 2.1 0.2
AATEE
B of| 1000 388 178 52 24 206 40 09 62 40 01
ADiQiupgeE | 1000 436 147 30 55 205 13 60 24 30 01
A
Ao /ma| 1000 377 173 71 13 174 23 15 83 70 00
At = 100.0 30.7 22.2 9.0 2.3 6.5 14.9 1.2 7.1 5.9 0.0
MH|A~/otoy | 1000 373 185 43 24 213 37 17 76 32 00
L a2 o o 100.0 48.3 17.1 2.7 1.0 26.4 0.6 0.1 1.5 1.9 0.4
s/ =8 100.0 39.3 16.8 3.3 3.8 28.5 3.6 0.0 4.2 0.5 0.0
= ol 100.0 33.0 6.9 8.8 4.6 12.6 0.0 2.2 20.5 11.3 0.0
OFpaSE
7000te gjot | 1000 532 114 37 16 260 10 09 07 12 03
100~2002t=d 100.0 48.5 13.9 3.0 3.1 26.6 1.5 0.9 1.4 0.9 0.3
200~300mte | 1000 419 171 61 11 224 65 02 12 34 00
300~4002t 100.0 42.5 19.6 5.6 1.3 18.1 2.6 0.4 5.7 4.1 0.0
4000tgl o4 | 1000 379 141 47 08 218 20 13 16 57 02
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o zo | 29 | 59 .

T = Al [ 2AkE] 27 | By | == s [ uF | 27 | e | 2d | 7IE
2025 4| 1000 231 261 112 76 80 44 77 60 57 0.1
202 34| 1000 171 289 122 77 88 45 71 62 76 0.
CAL g &5
=z = | 1000 258 233 106 49 99 36 93 61 67 00
2 = m| 1000 157 282 89 133 52 45 76 105 60 00
N = | 1000 218 301 132 77 78 64 51 30 50 00
m=oamy| 1000 246 257 122 94 61 35 76 62 44 04
<H g
Lt Z| 1000 230 249 112 81 87 46 77 60 56 0.1
ol | 1000 232 273 113 71 73 40 78 60 59 00
(A
15~29A4 | 1000 260 136 17.1 11 151 77 80 71 37 06
30~39A| 1000 246 254 177 16 116 19 145 22 04 00
40~49M | 1000 230 188 126 41 243 53 66 31 22 00
50~59A | 1000 251 273 118 88 48 41 87 60 35 00
60AM O/ A| 1000 213 306 79 109 28 38 62 72 91 00
65M OlAH| 1000 194 324 66 119 28 37 56 78 97 00
-
=z % ol s 1000 203 297 60 110 51 46 58 74 99 02
Il =z| 1000 275 267 109 57 84 36 75 60 37 00
f 2 o A| 1000 221 212 177 57 111 48 103 43 29 00
(ZQIAYER )
o| s | 1000 286 174 134 23 113 61 107 59 40 03
oS | 1000 217 269 123 88 83 37 74 58 51 00
Ab® /o & | 1000 219 327 55 96 37 46 54 69 97 00
(BAESE
2 of| 1000 246 247 119 79 86 43 80 56 45 00
ADlwnpges | 1000 206 284 101 71 70 45 73 68 79 02
(Y
M@ /me | 1000 193 228 183 38 117 42 87 65 46 00
At o 1000 265 183 108 27 87 65 121 109 34 00
MH|A/otoy | 1000 255 258 138 26 87 27 118 48 43 00
= 2 o 9 1000 203 278 58 233 55 35 40 49 49 00
Jls /=2 | 1000 314 288 85 52 60 36 74 26 64 00
2 ol | 1000 188 173 243 19 229 77 14 58 00 00
OttasE
1000t O[Ot | 1000 196 319 59 91 29 42 55 100 107 00
100~2008k | 1000 250 341 53 88 42 26 48 49 103 00
200~300tel | 1000 288 209 94 96 54 50 64 96 49 00
300~4000t) || 1000 198 296 132 61 82 71 70 56 36 00
4000t oA 1000 177 238 156 89 131 38 97 43 30 00
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1 o856t

2 = %u, r

20254 100.0 14.6 37.2 48.2
202 3 4 100.0 16.0 24.2 59.8
CAL 9 g5

2 =2 100.0 17.6 40.4 41.9
2 =2 3Z 100.0 9.3 37.3 53.4
N 2 A 100.0 13.3 30.5 56.2
Fzo 100.0 13.0 38.1 48.9
< =1

=1 At 100.0 15.4 39.7 44.8
q At 100.0 13.7 34.6 51.7
oAy

15~29A 100.0 17.5 48.6 339
30~39A 100.0 17.0 52.2 30.7
40~49NA 100.0 36.7 37.5 25.7
50~59A 100.0 19.9 45.7 34.5
6 0A OfA 100.0 6.0 28.4 65.6
65N O At 100.0 3.7 23.1 73.2
sty

2 Z o] gt 100.0 3.6 25.8 70.6
n = 100.0 16.5 44.2 39.4
o & o A 100.0 26.7 44.6 28.7
(ZASENES

]l z 100.0 18.7 46.4 34.9
Hi & A Q! & 100.0 16.2 39.7 441
A /o & 100.0 5.5 20.2 74.3
(BAEEE>

= A 100.0 19.0 42.3 38.7
AD1 Ol HPRBE:S 100.0 7.3 28.8 63.9
g g

dq4 2/ 8z 100.0 26.2 47.1 26.7
At = 100.0 35.1 36.1 28.7
A H| A /THOj 100.0 18.1 52.2 29.7
L a2 o o 100.0 12.6 40.1 47.3
Ns/ 2 100.0 9.0 39.5 51.5
= ol 100.0 243 17.4 58.3
OIRASE

10022l O]3tk 100.0 1.5 13.9 84.6
100~2000r 100.0 10.6 26.4 63.0
200~300%+d 100.0 15.7 41.2 43.1
300~4008t2] 100.0 14.3 50.8 34.9
40082 O|At 100.0 25.9 39.9 34.3
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of

2 o= o | Holas ElD | Q= 23 |FFIeAER
2025 4 100.0 28.1 18.9 10.3 2238 1.1 838
20234 100.0 35.1 10.2 16.7 20.7 13.4 3.9
NI I

z = g 100.0 309 21.3 11.2 17.9 8.9 9.7
2 = g 100.0 382 227 0.0 145 7.1 175
N =2 2 100.0 233 175 14.8 23.2 14.9 6.2
Zzolay 100.0 17.7 7.6 32 50.6 16.8 4.1
=

Lt 2t 100.0 29.6 20.7 8.0 24.8 11.6 53
o 2t 100.0 26.4 16.8 13.1 20.4 10.6 12.8
(A

15~29A 100.0 15.4 325 12.4 18.6 16.5 46
30~394 100.0 10.7 19.9 233 15.6 239 6.6
40~49A 100.0 29.6 231 145 13.4 9.4 10.0
50~509A 100.0 336 8.7 33 408 4.6 9.0
60M O At 100.0 39.0 13.0 0.0 26.7 11.1 10.2
65AM O At 100.0 395 11.4 0.0 26.7 17.1 53
-

z = o & 100.0 18.9 19.9 6.5 345 75 12.7
i} = 100.0 305 12.1 11.7 27.4 83 10.0
o = o] A 100.0 28.1 23.0 10.1 18.1 135 7.3
(ZQIAYER )

o] k3 100.0 17.3 28.7 12.8 26.0 8.1 7.1
Hi © 2t 9 & 100.0 343 14.8 9.3 20.7 13.2 7.8
Ae /ol & 100.0 11.2 223 109 30.2 36 21.8
(BAHZE B

3 o 100.0 30.1 18.8 9.9 22.1 105 8.7
AP HpgEE 100.0 17.8 19.7 12.4 26.7 14.6 8.8
(Y

Mo /e 100.0 396 5.8 8.7 208 16.4 8.8
Ab =] 100.0 246 31.8 12.8 13.1 9.2 85
M H| A/ Toj 100.0 30.7 13.9 7.4 27.1 6.4 145
= 2 o of 100.0 33.0 10.1 7.0 39.9 6.2 3.9
N /L2 100.0 216 28.6 14.7 28.1 0.0 7.0
2 ol 100.0 23.2 23.2 15.3 7.6 22.9 7.8
TrHa2SE

1009+l O]t 100.0 22.1 28.8 0.0 49.2 0.0 0.0
100~2008+) 100.0 46.6 11.2 0.0 385 0.0 38
200~3008+2 100.0 125 46.9 10.8 15.0 43 10.6
300~4000+2 100.0 326 6.9 11.2 285 15.6 5.1
4008t oAt 100.0 34.9 18.5 7.2 185 12.8 8.2
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